[image: image1.png]4. According to definition (2), Sec. 37, of integrals of complex-valued functions of a real

variable,
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[image: image2.png]Evaluate the two integrals on the right here by evaluating the single integral on the left
and then using the real and imaginary parts of the value found.

Ans.—(14+e")/2, (14e7)/2.




(Please Show each step of your solution.)
definition (2), Sec.37:

[image: image3.png]where u and v are real-valued, the definitc integral of w(r) over aninterval @ <t <#b
is defined as
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[image: image4.png]when the individual integrals on the right exist.




